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1 |kamilwlkp 15 8 12 10 1 46
2 |maras 12 10 12 10 1 45
3 |Fiveopac 15 8 10 | 10 1 44
4 |Piotrek_154 6 10 15 6 1 38
5 |jarek.ZE 15 10 25
6 |Speed 15 10 25
7 liackkpl 15 8 23
8 |michalk 8 1 4 8 1 22
9 |alien2023 10 10 20
= |Dawidoski 10 10 20
11 |Marek82 8 10 18
12 [filipol3 8 8 16
13 |Faja 12 3 15
= [Mieczystaw 12 3 15
15 [THOR 8 6 14
16 |adis555 6 8 14
17 |Gratiano 8 6 14
18 |trzydziech 5 8 13
19 |Misik 12 12
20 |Majki88 6 6 12
21 |rafalmazda6 8 1
22 |rossi2000 10 1 1
23 [Wodnik 5 6 1
24 |tekkenfan 10 0 10
25 |@tomek@ 8 1 9
26 |buczos 8 8
27 [Tony Jaret 1 6 7
28 |sivy369 6 1 7
29 [nynuch76 6 6
= |michaelB 6 6
= [WORCIK 6 6
= |zemoj 6 6
33 [Adamekmmz 5 1 6
34 [Piotr89 6 6
35 [Rzarii 5 5
36 |sewa 4 0 4
37 |Przemystaw 4 0 0 4
38 |LAJCIK29 4 0 4
39 |Adidom 3 0 3
40 |Ibjapon 0 3 3
41 |Setritus 3 3
= |torek 3 3

Strona 1



Koncowa

= |Yoki 3 3
44 |wolin 0 3
45 [MAYKI 0 3
46 |cargobull 3
47 |Piorunek 0 2
48 |malutka 1 0 1
49 |KUZAJ 1 1
= |Scibi85 1 1
51 |szkodnik_byd 0 0 0
52 |MIRAS M6 0 0
= |spidi2222 0 0
54 |Sonny 0 0
55 |TOMMIO7 0 0
56 |cepo12 0 0
57 |mops 0 0
58 |bobek7 0
= [SebaslLLB 0
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